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H & IHH (B\mEL) “EBMERE | —BLRE | BREYD ALK
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HIR 2 20049.1. 11:30 3pr @ FRKILIRT (BW) U © 2827T
1EIORS[E (ml) | BKEIEE | #E BRAERE BE (ppm)
ZmAb R F# 50 1 1 2,300ppm 2,300
— AL ik F# 100 1 1 0 e g
EFEMRILY 100 8 1.8 0 e s g
oAb K FE 100 2 1.2 0 B s g
HIE 0 20049.1. 12 :30 3T @ fIILIK OB TE 22 m S - 32.1°C
1EIO®RS[E (ml) | KEIEE | #E BANERE =E (ppm)
A R % 50 1 1 900 900
— &AL i #& 100 1 1 0 Meisin g
ERBEALD 100 8 1.8 0.23 0.029
AL K 100 2 1.2 0.02% 0.01% (100ppm)
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2% . ppm = parts per million [100/743®D 17D AT |
100% = 1,000,000ppm
1% =10,000ppm

0.1% = 1,000ppm
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